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(BX1=B Marks)PART - A

Answer all the questions
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When did T.S.Eliot receive N obel Prize?

L949
K1co1

Lynd, have better memories the stockbrokers?Who; aicording to Robert

Teachersa Dancersa

co1

kins.H oBd uea G.M"Pioem pofre byty"thethIS Se tructuat pWh

monol e.r
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Identi itical satire written 0rwell.Georthe short
An Artist as a

You an
Nineteen EightY-
Four

ublished? .oem "Pied BeauWhen was theK1III co1
Lynd, forgetfulnessWhat, foformthe1S commonesttoco2 K?II

I{3 State the young novelist ofthe Present hose novels sin and suffering plays

art.
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c03

r(3
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PPART _ B

A,nswer all the questions
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K1 Describe the rel devotion in the em "Pied Beau G.M.Ho kins.ousIII c019b.

t<z Describe the imPact of socio-Po d the effect of worid war in the

rnodern literature.
litical changes anco210a

What does triumPh and disaster sYm bolizes in the Poem "lf'?t<zIII coz10b

T YEAR - II SEMESTER
2

I TNTERNAL TEST NO.6

Qn.
No

Choose the Correct Answer :

1,949t9481938

I1.

Poets

K1II2.

dJElegyzrl Sonnet

t<2III co2).).

A Passage to India
r(3

Brave New World
co34. I

Answer in a Word or a Sentence :
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Shaw'sDiscuss playwhy

PART - C
Answer all the questions
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SRI I(ALISWARI COLLEGE (AUTONOMO US), SIVAI(ASI

B.SC., CS DEGREE EXAMINATION, APRIL 2OZ3

I YEAI{ - II SEMES'TER

CORE COURSE III: I)A'I.A C'IiI iIIiS AND AI,GOI{ITLIMS-21I]CSC2 i
MODEL EXAMINATION NO. 6

(From 2OZl - 2022 Batch onwards)
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I'AR'T _ A
Answer all the questions

Maximum Marks: 60

[1-0X1=10 Marl<s)
j
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Qn.
l{o

Ch{rosc tirc Correct Answer :

It{ (.01 Which opc ration ltdds atr clcnlcnt to thc Lo of thc stack?

J'l.rip cek I)ush d PoC

Which of thc fol

a Iiic

u {"o'2 t/' , What is thc Iist. o1'

,l-E-e"-pgq!--

4 IV i.02 l\,/_ Which travc

is a collcction of data items?
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d
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(:01

b Post-ordcr

(.03 i(:l ber of iteratiotts taken in bubblc sorL

i,01 l(1

Whal is mcant

Iiow would u rnl travorsal in doubly linkccl lisr?

{"0'2 What is thc rr:ilx ftrrm of A-ll xDn

{-.0'2 St;ltr: the mcchatrism tlf "Quick sort"
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1U IV ! Il< ! /')
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PAIT'I - tJ
Answcr all thc questions

(5X4=20 Marks)

I ttt t/ 4
I\I th an exatnple

0R
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I)cvelop a progrlrm to find
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PART - C
Answcr all thc questions
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llow woulci you cxplain traversing zr binary trce?K1

L<2 lrxpiain opcrations on stack with an cxamplo.
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II {l -, it04 Com are vario data cturcs
o

I iJi; IV (;04 t(4 llow woulci clas thc s ol'trecs?

t.o1 r(1 llow woulcl you dcscribc tlic opcratiolt i;1'c'Lata structures ?

Asscssrncnt Summary:

(.0 l(1
I(novrrl llndc

l(4
Anal is

Prinr;n:!

{j, r-r r \a !r! {., lii'. a: u . I

stvAKASl - 626 130

(i

I\Z

3.&

K5
lrvalu;rtion

i.01 ') ')JL

\,\) L

(.0:l

t.04
/'r\l:t,\r.)

l'ota I
74 :16

CLt
{lt}tJ llsE't'EAC}{lrll

f{s *

*
ul

f

O)

'f otall{6
(lrcatc

32
') ').)L

1')
JL

10 10

2t)') ()
1,O

()()

to

()()

11"0

7O3 rrl.d
$

HOD

i

ili

cds

1 fra

V

LOR}
iIT

t /')t\.)

--.,3-&*



SIVAKASIAUTONCOLLEGE oM USo ),ARI (SWKALI
022)ON APRILTIAE,XAMINEGREEDGEN LISHM.A.

-21PENC24IRIESTHEORARYVIII: CONTEMPOURSE-COCORE

sB onward7 022 )2021(From

Maximum Marks: 60Date : 0L. 06.2022

Time:9.30 a.m to 12.30

(10X1=10 Marks)

d) W.K. Wirnsattc)Viktor
I col K1 New Criticism?Who coined the term

v)

z oa
L

Choose the Correct Answer:

a)'I.A.Richards

PART _ A
Answer all the questions

Qn.
No

b) John Crowe
Ransom

signs in the book entitled

istics?Corrse in Generctl L
system ofaASWho languageinvestigatesK1II co12

a)Jacques
Derrida

b) Ferdinand de

Saussure

c)Stanley Fish d)Rene Welleck

CriticReader

under Reader-the interpretation of a textIrind who is of the central concern in

d Teacher
a Author

criticism
b

c02m

{'ulluessb

,)chora ?,cotiSemitermtheof
liltration

What is the
on

K2IV c024

school ofthought.ofmember1 thenotwhooutFind

d)Herbert Marcuseb) Theodor W. c) Terry Eagleton

Horkheimer Adorno
a) Max

co3 K3V5

a text?

I

?criticscoinedWho term GynotheIV co1 K1

analcr1historicaldoes newHow7 K1V co1

Answer in a Word or a Sentence:

to Derrida, structure?ofWhat is the crucialcoz K2

Define formalism.co3I9

co3 K3ilI

P+
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(5X4=20 Marks)PART - B

?Ifow does Viktor Shklovshy argue that art is a

t dreams and nightmares are
State the name of the writer who says tha

of unconscious desires.
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co1V11b

l12a.

characteristics?What is " "? What are itsc02IVt2b
say

)tversal' wn1UConcreteoftructureS"TheEShishowExamine through
ute",1VE absoecti andbetoaimedthatWimsattK.

co3I1 3a.

otanical Monotheof BDreamhisofDescri be Freud'sco3m1 3b.

Reader- Criticism.ResonCommentco4 K4rul4a.

Shorvaltor's ofOutline EllaineK4iV c0414b

Assess the characteristics Saussure's essaY "Course in

General

of language based on
1 5a.

Horkheimeraccording cultureAdornoTheodoreandMaxtoSCUSS;
talism.teof Iaa1S malnind

cosVl 5b.

PART - C
Answer all the questions

(3X10:30 Marks
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ArilV

z

Describe the theorY of De- special reference to Viktor

s "Art as TShklo Lle"
familiarisation withK3I co3

Sausstire's views structured ofasaExamineco31 6b.

is.revealed
Examineinterpreti

otherandreaderthe,1eIOthe byplayedtext through"Meaning
Storeference tanleywithstatementthisVE ),ClassThis1nathere T"Is extVlEWS theish S 1nF

theandShakespearecriticallatt essayGreenbe how StephenAnalys
exorclsm.aboutorcists"Ex

V co4

Derrida's "structure, S as a deconstructionist text.and PlaAssessK5il co51 8a.

independentElaine
Femini Poetics".

ofmodeltearaESS andaShowalter sephow propoDiscuss
stowards.T a1i thefeminist

K5IV cos18b

*r<>1.***>F**8*r<*
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DiscussK2coz
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sRI KALISWARI COLLEGE IAUTONOMous), SIVAKASI

M.COM (CA) DEGREE EXAMINATION, NOVEMBER 2021
I YEAR. I SEMESTER

CORE Cogrse III : E-COMMERCE - 21PCPC13
MODEL EXAMINATION NO.3

(From 2021 - 2OZZ Batch onwards)
Date :15-12-2027
Duration: 3 hrs Maximum:60 marks

Qn.No 2
o., 0)

!rE
58UIo

'- 6)tr>oo
EV

PART - A
Answer all the questions

(10X1=10 Marks)

Choose the Correct Answer:
co1 K1 Which dimension of e-commerce that enables commerce across national

boundaries?
a) Global Reach b) Interactivity c) Richness d) Ubiquitv

) II co1 K1 Today the largest electronic commerce is ?

a B28 b 82C C2C CzB

3, III co1 K1 Expansion of ISP

a) Internet
Service Provider

b) Intranet Service
Provider

c) Internet
Service Protocol

d) Intranet
Service Protocol

4. ry co1 K1 Which system that allows a person to pay for goods or services by transmitting a

number from one computer to another?
a) E-pay b) E-wallet c) E-cash d)Credit card

V co2 K2 An Electronic cheque is one form ?

a) :rl e-bitt b) bl e-pav c) e-cash d) e-monev

Answer in a Word or a Sentence:

6. I co2 K2 Expand ICT.

7 II co2 K2 What is E-Ecommerce?

8. III co2 K2 What is DNS

9. ry co3 K3 State the features of electronic payment system

10. V co3 K3 Find the Digital Signature?

Qn.
No

oz
q

or99t
68qJ5

o

'- 6)

oq)
Er

PART- B
Answer all the questions

(5X4=20 Marks)

tLa. II co1 K1 the B Internet for Ecommerce.

toRl
11b. I co1 K1 State the advantages of eco-system.

72a. II co2 K2 Explain about Development of EDI.
(oR)

12b. V co2 K2 Discuss aboutE-commerce Legal Issues.

13a. III c03 K3 Examine theimproving Internal Communications.

toRl
13b. I co3 K3 List out the factors involved in creating the need for Information Technology

14a. III co4 K4 Analyze about Electronic Messaging.

IoR]
74b. IV c04 K4 Outline the steps involved in connection of Internet Service Provider.

15a. V co5 K5 Evaluate the E-Commerce Transactions.

ionl

t.

I

of



15b. ry co5 K5 Discuss the process of Electronic Credit.

Qn.No

oz
q
0)

qok(J
h=cfo

'a 0)

o€,
HY

PART- C

Answer all the questions
(3X10=30 Marks)

16a. II co3 K3 Determine the Electronic Data Interchange.
OR

16b. I co3 K3 Describe the mechanics of E-Commerce.

1.7a. V co4 K4 Examine the Electronic Funds Transfer Act and Regulations.
OR

17b. III co4 K4 Examine the E-Commerce Standards.

1Ba. v co5 K5 Evaluate the process of Electronic Cash.
UR l

1Bb V co5 K5 Estimate the SecuriW threats in the ecommerce environment.

*************
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CO K1
Knowledge

K2
Understanding

K3
Applv
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K6
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Total
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co2 12 L2

c03 30 30

c04 2B 28

c05 28 28
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12 t2 28 28
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202L - 2 2 Batch onwards
Date:18.08.2022 Time: 9.30 am - 10.30am Total Marks: 30
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PART - A
Answer all the questions

(BX1=B Marks)

Which of the is the reactive cies in the onation of ?

S0zc d HS0+'
K1

a H+

1 co1

What is the the bond of C-C bonds in
b 734 m c L54 159 m

co1 K1
739

Choose the nature ofactivated
unreactivec d none ofthese

K1

a Stable eb unsta
III

Find the value of n at low pressure if the Freundlich adsorption is
x

ual to 1 none oftheseless than 1

III

1a more

I co2 K2 ress the uation at ssure.

III coz K2 Calculate the number of n electrons in cyclooctatetraene using Huckels rule.6.

where the electrophilic substitution reactions mainly take

ace in anthrace
Identiff the positionK37

reaction.forthat show maximumExamine theIII co3 K3B

o-
i6Jtr>O0)

EV

PART. B
Answer all the questions

(3X4=\2 Marks)
6)

EELO
=uu5

K2'9a. 7 co2

Discuss the reaction of aromatic side chain.I co2 K29b.

K3 Describe the - Schulze Law for on.10a. co3

K3 n the kinetic es of colloids.L III co3

K4 ish and deactivati Substituents.11a. I

K4 the characteristics and isotherm.BET11b. III c04

sRI KALISWARI COTLEGE (AUTONOMOUS), SMKASI
B.Sc CHEMISTRY DEGREE EXAMINATION NOVEMBER, 2022

II YEAR. III SEMESTER

CORE COURSE{E GENERALCHEMISTRY III - 21UCHC31

I INTERNAL TEST NO. 3
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co3
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(1X10=10 Marks)
PART - C

answer atlthe quesdons
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sRI KALISWARI COLLEGE (AUTONOMOUS), SIVAKASI
B.A.TAMIL DEGREE EXAMINATION, APRIL 2023

II YEAR . IV SEMESTER

SKILL ENHANCEMENT - lV : 6rong!6luu-rirurjlu.rei: - 2f UTAS41

MODEL EXAMIN ION NO. 6
(From 2021 -2022 Batch onwards)

Maximum Marks: 60Date : 20.04.2023 Time : 9.30 am - 12.30 pm
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PART. A
Answer all the questions

(10X1=10 Marks)

Choose the Correct Answer :

1 co1 K1 @oud;duL$p[6 @dDp$g GlanSoalen oeilerng glaorpuun?

a) @dldlarir 6xprb@ b) ueuGlondl6rpri;o c) Loole- 6xtpri;@ d) rorrioeo 6xpri6

2 co1 K,I e-LDir ounu6lair unL-oilsolorgi pdldl6i) GlrongflGluuln$pouir u-rnir?

a) aoi[oanfl GpdluL
ollrnurorb rll6fi6D6n

b) pnrod;oeil
ooiloair

c) ga.ouqgqneair d) aneu.anLbudloub

3 ilt co1 K1 u$plrfloraoeir apg Gpnd;o$Gpn@ 6au.robu@dloirpeot?

a) 6ounu , b) orilDuomn c) erflen6urLb d) aduaror

IV co1 K1 Gluu-rir6o

a) ofuorcn b) Gundludlq c) retrou 6urb d) ratlau roarflooeo

V co1 K1 '5grr6orff' oeirug,l obGlLonglo Glsn6b?

a) u&a b) e-cusr c) Gunireiotddlu.l d) Goolrnro

Answer in a Word or a Sentence :

6 I c02 K2 'lloguppn' erairp ryroau gqGlutn$dl$ pdldl6i, Gpnair$lu-r anur5urb og,l?

ll c02 K2 Glron g! Glu u.r nuq $l oqairodD6r 6u dDt6uu@ Ei glo.

8 c02 K2 gurpdfi GlronglGluulirur-llei: s-6tr6n (pdirEu r5rflqoon6n d; r'Eua

9 IV co3 K3 unq$ulair u$plrfl d;ooro 6lrongilGluu-rnuqu uouflou:& ari@o.

10. V GO3 K3 agymqp unq$urnrfleir GlronglGluuriruqu uouflooror$ Glpefiqgu$gJo.

Qn.
No

ctz
.ts
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frE
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od
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PART . B
Answer all the questions

(5X4=20 Marks)

11a ! K1 nd; Gsnt-un@oalon erlcnti;1go.Glron g! Glu u-rirurJl u-ro5l oil '6n6uuT6Dff6rn odGlqpil

(oR)
11b I co1 K1 c-pqglongla 6I 6r(u515.

12a. lt cc2 K2 geau$arrpu u@uumuo{ Glou-rouploil e.-6,r6n epairUt qauuu@$6o.

(oR)

12b. ll cC2 K2 D6bo) paironooonen

13a ill co3 K3 oflqugggrJo.
o

13b co3 K3

Qn.
No

4.

5.

7

ilt

co1

ill oouufluGlunlilouull GlLonglGluurirull gllsolrulrb oSlppanpd, oL-L-olLoci;o.



14a. IV c04 K4 pr.6l$ ofloAa5lu: goirgluq GlmnglGluuriruLllair dlpuqoo:ora aL-@o.

(oR)
14b IV c04 K4 qrardlsu pruordraofloir G[ongliGluurfruqoooera alqd; on[@o

1 5a. V co5 K5 olnia GlLonU! @euti;dluniooflcir pl6[2 Glron$Gluu-rirurlu updlB aqq$g'rotqei;o.

(oB)
1 5b. V co5 K5 @6dl 6lLong! @euti;dlu-rnjroerioir prdpnii;oLb updl o@pg,tci;onu@4.

Qn.
No
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E
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PART . C
Answer all the questions

(3X10=30 Marks)

16a. I cC2 K2 pr.6$ GlLongrlGluu-riruq euqeun$orgtp Glpn@pg'toryebo.

(oR)
16b ll cc2 K2 Glron g! Gluurirur-il cir eu ooot6dD6tt oil ou rfl d;o

17a tl co3 K3 GLongflGluu.riruunorfl air 6u6D556D6r$ Glpofl qu@6g,lo.

(oR)

17b lll co3 K3 gl1$oilu6b GlpnglobgrL-u @aud;dluniomor GlronglGuurirdiq6 oflpb gdp5 guuro.

18a IV c04 K4 Gtpoirofl$$lur GlLongloofleb GlronglGluuriruqd; Odlpgtu ugpgnuro.
(oR)

1 8b. V c04 K4 o 6.De6 elfnjrdloil GlrongilGluurnur5eir god;du-Lpgtcxp5t6 gdlpgrb o15$grorryd;o.

K3
Applv

K4
Analysis

K5
Evaluation

K6
Create

TotalK1

Knowledge
,K2

Understanding
co

13co1 13

3131c02
3030co3
2828c04

I Ico5
28 I31 3013

36
110Total 74
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(AUTONOMoUS)' SIVAKASIKALISWSRI COARI LLEGB
ts.coM (CA)DEGREE EXAMINATION, NOVEMBER 2022

II YEAR - III SEMESTER
CORE COURSE-V: PROGRAMMIN G IN JAVA _ 2TUCPC31

MODEL NO.1

Date: 05.11.2022 Marks:60

zZ (10X1=10 Marks)

(From 2021-2022Batch onwards)
Time:9.30 am-12.3

PART _ A
Answer all the questions

o0) .laErrd5(.)
L()
;i o)
Ot-
il\l

Choose the Correct Answer :

Who is known as father of Java Programming language?co1 K1

a) James

Gosling
b)M.P.Java c)Blais Pascal d) Charles Babbage

Which one of the following exceptions is thrown
Statement is executed?

when divided by Zero2 K1

a) Nqll
pointers
Exception

b) Number format
Exception

c) Arithmetic
Exception

d)None

Which Scanner class method is used to read string value?co1

a) nextQ b) next lineQ c) both a &b d) read string0

Which method is called only once during the run time of your applet?co1

a) stopQ b) paint0 c)initQ d) destroy0

What is a collection of related records?

d)c Dataa tream b) File

5 V co1 KI

6. K2co2
Answer in a Word or a Sentence :

Define

co3 K3 List out any three types of tokens.

8. m co3 K3 Estimate the concept of multiple inheritances is implemented injava?

9 ry c02 K2 What is the use ofAPPLET tag?

V c02 K2 What is Stream in java?

1. I

il co1

J. m K1

4. IV KI

I

7 il

10.



()9
"E,(JO+.u5

IV
G6J

=A)
PART. B

Answer all the questions
(5X4=20 Marks)

1 1a. co1 How will create

co1 How will you create thread in java

theClassify data 1ntypes Java.

II c02

13a.
in Java.Differentiate and

13b. co3 a Java Interface

l4a. Point out the basic concepts of OOps

t4b. Explain the Structure ofJrava Program

1 5a. Discuss about streamofrmportance bytes

K5

oO)r
OELo
5cJ

tw
G() PART. C

Answer all the questions
(3XI0=30 Vfarf<s)

l6a. Examine the Features of aYa

co2 variousIllustrate the of S ln yatypes Ja

co4 Anal theyze function of inheritanceMultiple m ava

t7b. K4 lifecycletheCalegorize of Thread Java

co3
code inDetermine the executable

18b- V co3
Characters in fileDiscuss about

********r(****

i

ry

I b. ry K1

72a. II c02 K2

T2b. K2

K3

III I\J to

co4 K4

co4

V

cos Assess the value

I K2

1 II K2

K4

IV co4

I 8a. ry

K3



Assessment Summary:

Knowledge

K2

Understandinq Applv Analysis Evaluation Create

Total

co1

31

co3
c04
co5 8

Total
31

74 36

*

p;;=-i,.:'!

$Ri KnLt+li ,i ,,uli.d,f;
{Ar('tnitcl'ri ,3 1rnJ

stvAKAst .626 130+

x
"b

a

J\

a

CO K1 K3 K4 K5 K6

13 13

c02 31

30 30

28 28

8

13 30 28 8
110
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sRI KATTSWART COT.TEGE (AUTONOM SIVAKASI
B.COM ORPORATE SECRETARYSH D EXAMINATION NOVEMBER2022

II YEAR.III SEMESTER
CORE COURSE . VI: CO{PANY tAW AND SECRETARIAL PRACTICE . rr - 2LUCCC32

MODET NATION NO. 2
ZOZL-2022 Batch on

Date: 07.1L.2O22 Time i9,30 am- 12.3Opm Maximum Marks : 60

Qn.
No

ctz
o

EErrO59
u5

o-
'a(l)

oq)
EY

PART - A
Answer all the questions

(10X1=10 Marks)

Choose the Correct Answer
I co1 K2 Indicate the document which invites the public to buy the shares of a

compan)l.
a) Certificate of
Incorporation

b) Articles of
Association

c) Prospectus d)Memoran
dum of
Association

2
co1 K2 Describ,e a pqrson who owns the shares of a company.

a) Shareholder b) Member c) Promoter d) Creditor

II c01 K2 Indicate the method of issue of shares which is issued above the par value.
a) At par b) At premium c) At discount d) Par and

Premium

4
V co1 K2 Indicate how many modes are there to windup the company?

a)2 b)3 c)4 d)s

5.

v c01 K2 From the following find which is not a type of dividend?

a) Interim b) Final c) Sweat Equity d)
Proposed

Answer in a word or a sentence
6. I co2 K2 What do you mean by aggregate of fully paid share?

7 ry co2 K2 Describe the term dividend warrant.

B. II co2 K2 Describe who can issue the share certificate.

V co3 K3 State the modes of winding up.

10. III c03 K3 State the capital on which a company cannot take loan.

Qn.
No

oz
0)gE

frO5e
u5

Ot
'a 6)tr>o a,)

Er
PART. B

Answer all the questions
(5X4=20 Marks)

].1.a. I c01 KZ What is preference share? Explain its types.

t0R)
11b. II c01 K2 Show the differences between transfei'and transmission of shares.

tZa. III co2 K2 Discuss the liabilities of member in a company.

t0R)
tzb. III co2 K2 Describe the restrictions on the borrowing power of the company.

1.

III

3.

9



13a, I co3 K3 State the different types of prospectus

13b V co3 K3 Describe the various kinds uidators

14a. ry c04 K4 Distinguish between interim dividend and final dividend.
(0R)

14b. co4 K4 Examine the duties of company secretary in respect of compulsory winding
up.

15a. c05 K5 Discuss the general provisions relating to allotment of shares.

{QR]
15b. ry co5 K5 Discuss the secretarial duties towards payment of dividend.

Qn.
No

oz
o

8Et<o5uo:u5

o-'- 6J

Oo)

EX

PART. C

Marks)
Answer all the questions

(3X10=30

L6a. III co2 K2 Describe the various methods of becoming a member'0R

76b v co2 KZ Indicate the rules regarding the declaration of dividend

t7a. V co3 K3 Explain the various modes fqr winding up of a company.
I 0R)

17b. I c03 K3 What are the contents of prospectus?

1Ba. II c04 K4 Point out the various modes of lssuing securities.
oR)

1Bb. c04 K4 Analyze the procedureqjor voluntary winding up.

Assessment Summary:
K1

Knowledge
K2

Understanding
K3

Apply
K4

Analysis
K5

Evaluation
K6

Create
Total

co1 13 13

cC2 31 31

co3 30 30

co4 28

co5 I I

Total
44 28 8

110
36

il@
o,tlelPtl

r rrilluilq i'ot't'EGE

'JiiTf 
izr rso

\r94l
Head of the Department

G6: t.d$ffi*#

tur,

toR)

V

II

V
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sRr KALISWARI COLLEGE (AUTONOMOUS), SIVAKASI

c(l LOGY) APRIL 2023ATIONNEXAMIEGD REETTION NOECHSB NFORMA
II YEAR . IV SEMESTER

DATA ITC41SYSTEM 21 UTNMANAGEMEoTI NAL BSERELAcRE RSOU Eco
MODEL EXAMINATION NO. 4

(F rcm 2021 -2022 Batch onwards)

Date :18.04.2023 Time : 9.30 am- 12. Maximum Marks:60

{t-LOE>ooo-i
6Y

PART - A
Answer all the questions

(10X1=10 Marks)Qn.
No

oz
=f

ootrsb
=ood

Choose the Correct Answer :

Can you choose which data about data is?

sam le datac meta dataical databa data
co1 K11

Which symbol used in the select clause?

c ualmrnus
co1 K1

lus
2.

Which is the best answer for association among several entities?

tub attribute relationsa
3. ilt c02 K2

Which form of function there is no Partial functional dependencies

3NFc 2Nb BCNF
K2

a 1NF
4 IV c02

Can you select another name for Optimistic Control?

d Deadlockb Lock Based c Time stam
co3 K3

a Validation
5 V

Answer in a Word or a Sentence :

Can list the three Schemas in DBMS?I co1 K16

c02 K2 How would u summarize ma ng cardi in E-R Model?7 il

How wo td re function and cedure?comlil c02 K28

How would examine E Model in RDBMS?IV co3 K3o

V co3 K3 Can List out three time stam10

o-:otr>ooo'T
6Y

PART. B
Answer all the questions

(5X4=20 Marks)ciz
=tr
f

o
flE
5(J
od

Qn.
No

K1 State in yo words bout Data base Langu ages?ru a11a I co1

K111b I co1

co2 K2 lllustrate about E- R D ms?12a. il

K2 Class Nested Sub Queries?il c0212b.

K3 Describe about I Constraints?13a co3

asterisk
lt

ilt



FunctionsCom P rocedures?co3il13b

c04IV14a

co4tV14b

co5V15a

co5V15b

Process?Database

(3X10=30 Marks)
^o
E
o
o
6

K1

K1

K3

AnK4

K4

K4 o

K4

K2

K2

Fal orm?ormNCodeboutalain BoyceeExp

Theory?dencynalctioun DepenFabouttateS

Modet?onransactiTrnemExa

lnHandadlockaboutllustrateI

S?MRD BinDesigatabaseDutabonExplai
R

in SQL?marize SQL Data tYPes

?ExamPleswithrationsSetrize opeoCateg
oR)(

PART - C

Answer all the questions
oz

f

ooc
eb
=oo=o5

Qn.
No

co1I16a

co1lll16b

c02ll17a

co2IV17b.
culus?CalnalRelatioK4co4ill18a

?rotocolsPBasedLockK4co4V1 8b. **L**********

Assessment SummarY:

g.\+"

\v
Frincicat

LLIOi
)

110

TotalK6
Create

.K5
Evaluation

K4
Analysis

K3
Applv

K2
Understanding

K1

KnowledgeCO
31

31co1 32I

32c02 11
11

co3 28
28

co4
08

co5
36113231

110
36

74Total

Signature of Teacher
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_4
sRt KALTSWARI COLLEGE (AUTONOMOUS), SIVAKASI

iJI.Sc.,CS DEGREE EXAMINATICN, NOVEMBER 2022
II YEAR - III SEMESTER

CORE CCURSE - Xll: ADVANCE D WEB TECHNOLOGY - 21PCSC32
I INTERNAL TEST NO.3

(From 21 - 2022 Batch onwards)
Date : 23.08.2022
Time 9.;t0 am - 11.15 anr

r..{l I.

No

Choose the Correct Answer
ilcl

Maximum Marks:40

C

a_i-ots>oooT
*Y

(I)(l)e
.of,oo=od

PART _ A
Answer all the questions

(8X1=8 Marks)

i'

ldentify the tag used to display a Horizontal line

a) HR lol

b) <href-"
bs/css/bootstrap.
min.css"
rel="stylesheet">

) Column Drop

c) <link
h ref="bs/css/boots
trap.min.css"
rel="stylbsheet">

loy rn

d) Fluid

d) 'style
link="bs/css/bootst
rap.min.css"
rel="stylesheet"--

d)
<ul tYPe-1 >

<li>Arres<lli>

<li>Bincro</li>

<li>Leo</li>

<li>Oracle</li>

</ul>

ler

ii -,\-J I

l/ 4

^l

,^ r.\, t/'')

Which design of Responsive Design, renders the page as a single column, but
the order er screen to smalier screen?

!!
II

C

Which option shows the correct method to link the downloaded Bootstrap to
HTN/t code?
a) <style
h ref =" bs/cssi boo
tstrap.rnin.css"
rel="stylesheet">

Which Htnrl Tag can be applied to get the following outpr-rt

1. Aries
2 Bingo
3. Leo
4. Oracle

4 atc3 i \.J

a)
<ol>

<ii>Aries<lli>

<lr>Binqo</li>

<li>Leo</li>

<li>Oracle</lt>

</ol>

Answer in a Word or a Sentence :

b)
<ul>

<li>i\ries</li>

<li>t3ingo</li>

<li>Leo</li>

<li>Oracle</li>

</ul>

c)

<ol type=a>

<li>Aries</li>

<lr>Bingo</li>

<li>Leo</li>

<li>Oracle</li>

<iol>

il

co1-
- -,

co1

K1

K1

f\.1

Which Tag has the Rowsp an Attribute ?

Which distributed systems over the lnternet provide frigh performance and h

availability of cofltent to the end users ?

Wnat is the plirpose of delining Viewport in l3ootstrap ?

Atrrply the requrred Hl l\XL Iag to get the following output

ltil c02

co3

igh

il trrcr ii \ittttlr.'t lr.'ttt t'rtl l0 arrtl

1 K,i

I .) Line

2

altered from
a) lVlenu Bar b) Layout Shifter

5

o.



Qn
No

(1)

irlCLO
fOo=-o

PART . B
Answer all the questions

(3X4=12 Marks)

Describe how lnternal and External linking can be implemented using <a> tag
R)

li r-- f'\ I List any 6 Utility Classes of Bootstrap and their uses

a_--O
tr>ooo-T
5Y
K,1

K3

K4

K4 can be used to implement a mentsofExam rne how Grid
OR

PART. C (2X10=20 Marks)
Answer all the questions

.10a '.-.\JJ

r0b co3

Fi:r:r;n irJ

{:i:t\:t *3r{rt2:

L,us: rrfin*:

tll:"r:ilr: : i..: h"Xill{:! i-j .[,r.nlair:

[:i i:l't li r 1

I-rt!t irt n li.it: ,*xcj F1? yy"j, l)

['.r:rnrplcs uf List

Apply the required HTIVIL Tags to get
the given form output

Apply the required HTIVIL

Tags to get the given torm
output

;jrill)iI

I -t i-rptrirrr -
I li,,r
r 1::,il.rir

,:1 ll,,,t;j:uri:r
I :. ,_.-,

rli- L llL:a_L Uiil

,1.i. icr llea
Ail..! anta

c04 Com the different wa of Linki CSS to a HTIVIL file

41t-tru

Qn,
'i.lo

o4

Ar;-otr>ooo-T
mY

o

:o
)P
(JJ

Z
.=

f

*l
z
C

=
a-r -J(1

oh

co1

"laiutirfir*:-:yj,;,i^i:

* ,{,i}dr+t:i :

i:

(oR)
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I
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, r l<

i-jet* l3t *:,:x: :a11: t,-t: ra:,tl

'';t!tl.,,a I ):j\j,,):,i1:,t.:;,]i.ii.,it *'

.t'.,,t1:.:1:t:t'tt

?

ll r'.t

i :: u ! i t ill : rj t: r it',

|t.t..".' .t't r,"

!:i::,',,.:;,::r i:

', .:,' t.- :a:-l'it|,.l : ;:,a; .

!, I lid;0il
I

s."Ir, 1rl jrl
11

f i;l{t it,1{
t1r

It;1tr ljii{i.i
i iiv*J I ir]{l

ti,.{lt 1;.14 I;lt l:lt
.TI

1.)a1 ?urr,J

\l*rrl;rr

(:i:; :iI iririi'r,. i I-?;rrr:,rh:.

,.ti;:

l.r,jTb*rdir ?[;.

?t:-.)a:,

iE;iiii.--rJa:iaur,fi, i;:r

t;
{'
),i

t.
F{

t

(oR)
LUJ K3

,., r\A r\+ Examine the working and usage of following Bootstrap Components
a) Navigation Bar
b) Glyphicons
c) Panels
c) Badges

Analyze how H TIML Tables are efficient in applying alignment to complex forms tn'r 'Lh c04 K4
HTTML

*************

12E

11^t)d tl
ll

AJ

\iiai:.+

Apply the required HTIVIL Tags to get the given output

Apply the
required HTN/L

Tags to get the
given Table
output

tr1' rfi

i i.::) 'il:r.

{

':'14

trr:

ili:Er;

l";;i".,



Assessrnent 
S

co1

C2

u \,,,.)

- ,- +,-. lr L;ii,

ummary:

Knowledge
Total

HOD

Pri n* i pal

SRI KALI$}TAfi i ilf LI.ESI
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Analysis
K4

UU K1 K2
Understanding

K3
Appty
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c04
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(AUTO NOMOUS), S|VAKAS|SRI GOLLEGLI
MATHEMATICS DEGREE ON, NOVEMBER 2022M.Sc NATI

. III SEMESTERI
CORE : FUNCTIONAL ANALYS ts - 21PMAC31

EL EXAMINATION NO. 2MOD
( )romF 1202 2022 oBatch nwards

Maximum Marks: 6008.11 .2022Date T em 9 .30 am- 21 03 pm

Qn.
No

oz

f,

oo9
UlF

=66sO=o

.9
E
o
o
m

PART - A
Answer all the questions

(10X1=10 Marks)

Choose the Correct Answer

Which of the following is not correct?

co1 K2 a) ll ll, on Kn is
not strictly
convex

b) Il ll* on Kn is
not strictly convex

is
strictly convex
c) Il llz on d) ll ll, on Kn is

strictly convex

il co1 K2
a) is
com lete

b) is compact c) Y" is connected d) Y" is closed

lf X is a linear space
true?

andPisaprojecti on of X, then which of the following is
3 ilt

a) R(P) = Z(t - P) c)R(l -P)=Z(l- d) R(P) + z(t - P)

callthe scalars bel to the setHow ?
IV co1 K2 a) a spectral

value
b) an eigen value

ei en vaiue
c) approximate d) rank

f X aS nfi dite mension a normed S and copace nthe cawhat nstrictly nvex, you
utabo XS ?

V co1 K2 a) X is not
convex

b) X is not
uniformly convex

c) X is uniformly
convex

d) X is open
convex

Answer in a Word or a Sentence
6 I co1 K2 ln which metric does hold?T

il co1 K2
Wh ic th mheore withdeals SEa ration two dpa of oint convex uSsj of a

ednorm S cea a closed A ?lane
8 lil co1 K2 Define a onPofalinear ace X
I IV co1 K2 Define resolvent erator A on a normed s Xset of an

10 V

c02 K3

Find the nature of the tinear
b

isometry F : L'-> (f ), given by F(y)= f , where

.f ,(x): [xydm , x e If 
.

a

1

Which of the following is not correct?
2.

c02 K3
b) R(P) =

4.

5.



oz gE,
9E-o

o-?otr>ooOTdv
PART. B

Answer all the questions
(5X4=20 Marks)

tr1a co1 K2 LetXbe a normed space. lf E1 is open in X and Ez c X, then show that E1 + E,
is opqn in X.

(oR)
11h il co1 K2 LetXbeanormed space over K, and f be a nonzero linear functional on X. If E

is an open subset of X, then show that f(E) is an open subset of K.

12a. cc2 K3 Apply the analytical techniques to prove that the
a Banach space.

dual of every normed space is

(oR)
12b lll co2 K3 Apply the theoretical knowledge of bounded linear map to prove Banach-

Steinhaus theorem.

13a co3 K4 LetXbeaBanach space, Y be a normed space and (Fn(x)) converges in Y for
everyxe X. Forxe X, define F(x) - lim,2-- Fn@). Let E beatotallybounded
subset of X. Ana lyze thq convergence of (F.(x)) for x e E

(oR)
13b. IV co3 K4 Let X be a normed space and A e B Examine the invertibility of A.

14a V c04 K4 lnvestigate the e
reflexive space.

lements of non empty closed convex subset of a non zero

(oR)
14b. V co4 K4 lnvestigate the elements

closed subspace of X.
of a non zero reflexive space X when Y is a proper

15a V co5 K5 lf xn \ x, xn 5 y, then plovethatx=y.
(oR)

15b V co5 K5 Prove that the linea lar multiplication in X'
in X'.are collrpatible with

Qn.
No

oz

f,

o
oEoo
=oo=)O 0

o-:otr>ooo-T
EY

PART - C
Answer all the questions

(3X10=30 Marks)

16a. c02 K3 Apply the theoretical kn e of norm on a normed space to prove operator
norm a norm on B

16b il c02 K3 Apply thejrnalytical techniques to ppyq the Taylor-Foguel theorem.

17a llt co3 K4 Relate the closedness of a projection with the closedness of its range space
and zero s ace.

( OR
17b IV co3 K4 LetXbeaBanach qqq ald A e BL(X). Examine the invertibility of A.

1 8a. V co5 K5 Let X be a separable normed space. Prove that every bounded sequence in X'
has a weak* ent sub uence

'oR
18b V co5 K5 Let X be a normed space and (xr) bffi lf ) is bounded

Qn.
No

I

111

(oR)



ii

and (ii) (x*(x)) is a cauchy sequence in K for each x in a subset of X whose
(r"S n nsede inIS thenpa x, that weak*prove !Q

i Xn) thand econvergent
rseconve holds Xif aIS Banach

*************

Assessment Summary:

CO K1
Knowledge

K2
Understanding

K3
Apply

K4
Analysis

K5
Evaluation

K6
Create

Total

co1 16 16
c02 30 30
co3 28 28
c04 8 8
co5 28 28

Total
16 30 36 28

11046 64
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SR! KALISWARI COLLEGE (AUTONOMOUS), SIVAKASI

UG (NME)DEGREE EXAMI NATION, NOVEMBER2022
II YEAR - III SEMESTER

NON-MAJOR ELECTIVE COURSE.I: CHEMISTRY IN DAY TO DAY LIFE - 21UCHN31

MODEL EXAMINATION NO. 7
(From 2021 -2022 Batch onwards)

Date: 12.11.2022 Time : 9.30 am- I m Maximum Marks: 60

Qn.
No

dz
.=cf

ao9OE
=o5s(J=

o

o-LOE>ooOT6v
PART. A

Answer all the questions
(10X1=10 Marks)

Choose the Correct Answer:
I co1 K1 Find the types of hardness of water.

a b 4 2 d 3

2 IV co1 K1 Which of the metal does not occur in a free state?

a) Silver b) Sodium c) Copper d) td

lll cC2 K2 Express the compound a lizarin belongs to which class

" a) Vat dyes b) Mordant dyes c) Substantive
dyes

d) Reactive yes

Which is an example of a synthetic polyme r?4 c02 K2

a) Nylon b) sirk c) Wool d) Cellulose

ldentify the pollution whrich cause more dangerous to our environment'5 V co3 K3

a) Air Pollution b) Noise Pollution c) Water Pollution d) Chemical
Pollution

Answer in a Word or a Sentence:

CO 1 K 1 What is the name of marsh AS

il cc2 K2 Summarize structure of terylene

Find out the use of soaP oil.

ldentify the chemical causes acid rain.

Find out the other name of baki soda

PART - B
Answer all the questions

(5X4=20 Marks)

State octane number.

co3 K3

I co3 K3

10. ilt c04 K3
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rdness of water.of haDescribe about the tYPesco111b

cC2il12a.

c02il12b.

co3V1 3a.

V co313b

c04ilt14a

ilr c0414b

co5IV15a

IV co515b

(3X10=30 Marks)
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K1

K2 of varnishDiscuss tire application

res of pigments

of reen houseK3
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State the action of
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PART - C

Answer all the questions

oloc
gE,
LO=
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I

C,z
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D

List

methodentr treatmwatetnosisrsereve osm principlelyAppi) rksrewofimtn atchsidatch emandheadatchmofitiontheoutil

acid ozonendata inoutdetailn abbeDescri

ToothandDettolne aboututlo
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inlPoi steeESSstaofcationsuto thent appli

varnish

K3co316a.

co3 K3V16b

K3lll c0417a.

K3I c0417b.

K4ll co5

K4co518b ****

Assessment Summary:
TotalK5

Evaluation
K2

Understand
11

o1

31
3 + +20

=31
1+8+20=
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288+20=28co5
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Create

K4
Analysis

K3K1

3 + 8 = 11
11

3 + 8 = 11c02
co3
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28Total
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Sigrfature of the HoD
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